I adtan weish

National Testing Agency
[ Excotince in Assessment

Test Date : 09 jul 2022 Test Slot : siot 1

Subject : Chinese

Sl. No.1
QBID:1501001

Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty lﬁne and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemen mpei it ol Pop.ulatlon Below Poverty Line | Above Poverty Line
Below Poverty Line =

M:F M:F
A 35 5:6 |
B 25 3:5 4:5
C 24 B S 253
D 19 3:2 5:3
E 15 5:3 3:2

fefefiad afers w e difsw, fomm sl - 3w st (fom) % 3R @ A 9 E @& & 979 09491 4
e o uferd fereron 2 am o e foan wen 2 | g8 aferr % s (22) % SigEn T 18 599 ¥ I

HFHET 1 T4 a1 famor

e | e & T (M) SR afeen s (F) 1 s
S A (%) [ e - e AL

vl T & 1 e T @ 3w
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
c 24 1:2 2:3
D 19 3:2 5:3
E 15 5:3 3:2

What will be the number of females above poverty line in the state ‘D’, if it is known that the
population of the state ‘D’ is 8 million?

(1) 3 million

(2) 2.83 million

(3) 2.63 million

(4) 2.43 million

ws - ‘D’ # wEi-tan | Fw afeensdi fi d@en w0 Eofi, afz 9= 3@ 2 6 sy D’ A sdEn
8 fufersm 27

(1) 3 fufer

(2)  2.83ffeaa

(3) 2.63 fafems

B 9 43 fufepr

1[Option ID=10001]
2[Option ID=10002]
3[Option ID=10003]
4[Option ID=10004]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty lhne and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemen mpei it ol Poplulatlon Below Poverty Line | Above Poverty Line
Below Poverty Line =

M:F M:F
A 35 5:6 |
B 25 3:5 4:5
C 24 B S 253
D 19 3:2 5:3
E 15 5:3 3:2

Freferfiaa aiferan w0 eam A, Foom wis v s Sk (fm) % s ® A 9 E o= % ui= o= Al
ST o fera fae 3 ar H e fomn e 2 | 39 @ifern & e (221) % SER T 14 5% & I

o

difa;

S ] T AR o

e | A | g () siwfeensi @) 3 s
S F A (%) [ mee .~ s e

RIS T 4 AT TR H 3
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
¢ 24 1:2 2:3
B 19 3:2 5:3
E 15 5:3 3:2

If the male population above poverty line for state ‘C’ is 1.9 million, then what is the total
population of state *C'?

(1) 6.25 million

(2) 5.35 million

(3) 4.85 million

(4) 4.5 million

afg g - Y it wEh-ta & I e f sHEen 1.9 fifomm @ @ vsw - f B e Smen
femaft 27

(1)  6.25 fafer

(2) 5.35 fufersq

(3)  4.85 fufer

(4) 4.5 faferaq

1[Option ID=10005]
2[Option ID=10006]
3[Option ID=10007]
4[Option ID=10008]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty ].hne and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemeniare ol Populatlon Below Poverty Line | Above Poverty Line
Below Poverty Line -

M:F M:F
A 35 5:6 6377
B 25 3:5 4:5
C 24 122 L s
D 19 3:2 5:3
E 15 5:3 3:2

Freaferfiaa aiferan v eam s, Foom wis - s See (o) % s ® A 94 E o= % ui= o=
A o Wfcera fereron 3 s faero fean e 2 | 38 anfee o STl (321) % SER T 18 5% & 30

o

difa;

ST T T AT e

s i (VD A Afeen i (F) o S
S F AT (%) [ e~ W

et e & e Y §
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
i 24 1:2 2:3
L 19 3:2 5:3
E 15 5:3 3:2

What will be the male population above poverty line for state ‘A’ if the female population
below poverty line for state ‘A’ is 2.1 million?

(1) 2.3 million
(2) 3.3 million
(3) 4.4 million
(4) 6.6 million

= - A’ i v # R e i s #=0anf, otz asg AT R - | i afeensi 6
e 2.1 fafasm 27

(1) 2.3l
(2 3.3l
(3) 4.4 fufez
(4) 6.6 fufcra

1[Option ID=10009]
2[Option ID=10010]
3[Option ID=10011]
4[Option ID=10012]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty ].hne and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemeniare ol Populatlon Below Poverty Line | Above Poverty Line
Below Poverty Line -

M:F M:F
A 35 5:6 6377
B 25 3:5 4:5
C 24 122 L s
D 19 3:2 5:3
E 15 5:3 3:2

Freaferfiaa aiferan v eam s, Foom wis - s See (o) % s ® A 94 E o= % ui= o=
A o Wfcera fereron 3 s faero fean e 2 | 38 anfee o STl (321) % SER T 18 5% & 30

o

difa;

ST T T AT e

s i (VD A Afeen i (F) o S
S F AT (%) [ e~ W

et e & e Y §
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
i 24 1:2 2:3
L 19 3:2 5:3
E 15 5:3 3:2

If the population of males below poverty line for state ‘B’ is 2.4 million and that for state ‘E’ 1s
6 million, the total population of states ‘B’ and ‘E’ is in the ratio of

1) 2:5

(2) 2:7

3) 3:7

4 4:9

aft 53 ~ B ol el & = gl ) s 2.4 fufeea siwarss - B 6 fuferaa 2@ o B sk
'E’ 1 Fat s o srgora 8 27

a)y 2:5

(2) 2:7

3) 3:7

4) 4:9

1[Option ID=10013]
2[Option ID=10014]
3[Option ID=10015]
4[Option ID=10016]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty line and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemeniare ol Populatlon Below Poverty Line | Above Poverty Line
Below Poverty Line -

M:F M:F
A 35 5:6 6377
B 25 3:5 4:5
C 24 122 L s
D 19 3:2 5:3
E 15 5:3 3:2

Fafafaa aifesm w e ifae, fomtd s - s sk (ffm) % smam @ A 9 E a4 & gi= 73] 4
A o Wfcera fereron 3 s faero fean e 2 | 38 anfee o STl (321) % SER T 18 5% & 30

o

difa;

S ] T R fad

g | - o gENi (M) 3R afeensi (F) 1 399«
G F AT (%) [ o e - - R
iyl T @ e rifefi T E T
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
G 24 12 28
D 19 3:2 5ad
E 15 5:3 9:9

If the total population of state ‘C’ and state ‘D’ i1s 5 million and 7 million, respectively, then
what 1s the difference in the population below poverty line in these two states?

(1) 0.30 million
(2) 0.23 million

(3) 0.13 million

(4) 0.11 mullion

Az 7= - ¢ T - D’ Tt SmEn FAw: 5 fuferm o 7 fifemm R, @t 3 3 oo o -
@ A = i SHEE S R

(1) 0.30 fufer

(2) 0.23 fafam
(3) 0.13 fafe
(4) 0.11 faferm

1[Option ID=10017]
2[Option ID=10018]
3[Option ID=10019]
4[Option ID=10020]
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Which of the following are correct regarding the process of learning?

(A) Remembering the information and reproducing it in examination.

(B) Synthesis and organisation of the old and new experiences resulting
in a novel pattern

(C) Carrying out activities which leave permanent effect on the learner.
(D) Learning means acquisition, retention and modification of experience.
(E) Preparing only for scoring good marks.
Choose the correct answer from the options given below :

(1) (A). (B) and (C) only

(2) (B). (C) and (D) only

3) (C). (D) and (E) only

(4) (B).(C). (D) and (E) only

sferm 1 afspn & wey § frafafaa & @ =9 @ @ 87

(A) AT H ATE FEAT S 3 wlen H gH g HEA

(B) UM SR T YAl % TYSNU R T o iy ey i ded
(C)  SAfnTeRal W TRl T4 Bied 916 @ ™l FI I ST

(D) AT 1 AT IHS T AT, WaEwr 3R IR 2

(B) dd 37=3 3% TTH A o foTg damt s

= feu o ot @ & 92 3T @1 == Fifs

(1)  Fd (A), (B) 3 (C)

() g« (B), (C) 3iF (D)
(3) Fad (C). (D) 31 (E)
(4) %A (B). (C). (D) 3 (E)

1[Option ID=10021]
2[Option ID=10022]
3[Option ID=10023]
4[Option ID=10024]
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What is the full form of MOODLE, an open source Learning Management System (LMS)?

(1) Modular Object Oriented Digital Learning Environment

(2) Modular Object Oriented Dynamic Learning Environment

(3) MOOCs Oriented Digital Learning Environment

(4) Multiple Object Oriented Dynamic Learning Environment

T wie stferTn weed wonef! (oo o vH) gEe (vn s S0 € ue ) o el s 27

(1) niggen sissse i fofsea afin varma
(2) UigHeH iedae AME-TE SEATHE a7 warg-iz
(3) g siifere fefaea affn wamiz




@ G n g s <
b Gl I [ e 3 e o | s B R e R

1[Option ID=10025]
2[Option ID=10026]
3[Option ID=10027]
4[Option ID=10028]
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Given below are two statements :
Statement I : Assesment drives learning.
Statement II : No feedback is required to be given in formative assessments.

In the hight of the above statements, choose the most appropriate answer from the options
given below:

(1) DBoth Statement I and Statement II are :_t'orrect
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement II is correct
4 g1 e fro Mo E
Fed () 37TeheM ATy =1 Yitd e 2|
F (ID) - TTHF Ao 8 gTaqfe <3 1 sravasda 98 2 1
39 oA o SATerreh H, 4 fou m fasedi 4 8 |e8 39w 30 &1 =9 Fifs
(1) Fud IR I EHT 98 2 |
(2) %A I3 [ EHI e 2 |
(3) &9 T8 2, cifefa Fed T Terd 2 |

(4) A 177eld 2, offehd oA [TadE 2 |

1[Option ID=10029]
2[Option ID=10030]
3[Option ID=10031]
4[Option ID=10032]
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According to Dewry. education is a
(1) Social need
(2) Personal need
(3) Status need
(4) Financial need

T ST e 2
(1) HraTfer SHTEvEFl
(2)  =fFrd ArarEed]
(3) feafq (vezm) sEvasFa
(4) faefra syragasd

1[Option ID=10033]
2[Option ID=10034]
3[Option ID=10035]
4[Option ID=10036]
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Pandit Madan Mohan Malaviya National Mission on Teachers and Teaching has various
components. Which of the following is not a component under this scheme?

(1) Inter University Centres of UGC
(2) Faculty Development Centers (FDCs)
(3) Teaching Learning Centres (TLCs)

(4) School Of Education (SOE)

S1ereRi wE e W uted ued Oied urerE g e o i e ) FofafEa O 8 Fm m e gieen
BreE ik

() g Hi & seafdvafaares w2
@ Pl T % (v & )
(3) fam s %= (4 va )

(@) T aewm (vh sid)

1[Option ID=10037]
2[Option ID=10038]
3[Option ID=10039]
4[Option ID=10040]
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Which of the following are the features of case study method?
(A) It is appreciative

(B) It is particularistic

(C) It is descriptive

(D) It is inductive

(E) It is mechanical

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) only

(2) (B). (C), (D) only
3) (C). (D). (E) only

(4) (&), (D), (E) only




YT () ead ugha i fasmand Frafafed § @ #6927
(A) T8 TEATHF 2 |
B) = fommamE 2|
() =& foammers 2|
(D) I HARTHATHS ¢ |

(E) =g =ifa= 2

fir fou o sl & @ o=8 U &1 99 Fifw

(1) ZFae (A). (B). (C)
(2) a4 (B). (C). (D)
(3) Fa4 (C), (D). (E)

(4) Fad (A), (D). (E)

1[Option ID=10041]
2[Option ID=10042]
3[Option ID=10043]
4[Option ID=10044]

Sl. No.12
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Which of the following are remote data collection procedures?
(A)  Third party interview

(B)  Pop-ups

(C) Data base e-mail

(D) Instant messaging

(E) Panel discussions

Choose the correct answer from the options given below :
(1) (A). (B). (C) only
(2 (B). (C). (D) only
(3) (C). (D). (E) only
(4) (A). (B). (E) only

frefefaa o @ qrew stfewe dugw i gfsmd = @ 27
(A) g wid ereg (Feta v anaTeEi)

(B) UM-3H

(C) 3 =) 3Ha

D) e FAfSm (qrehifars HeyH)

(B) ot feerym (arfies uf=et)

T2 fou o fosreat & @ wdt 3w w1 ==m A

(1) &4 (A). (B). (C)

(2) ZFad (B), (). (D)




3 Fa= (). (D). (B)

(4) = (), (D). (E)

1[Option ID=10045]
2[Option ID=10046]
3[Option ID=10047]
4[Option ID=10048]
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To perform t-test which of the following softwares can be utilized?

(A) MS Excel

(B) Unix

(C) SPSS

(D) MS Equations

Choose the most appropriate answer from the options given below :

(1) (A)and (B) only
(2) (B), (C) and (D) only
(3) (A)and (C) only

(4) (A). (C) and (D) only

di-vlig = 2g Fafafed 3 @ #9 a1 difest gga o S ekt 27

(A) TH. TH. TR
B) I

(C) wWHRww
(D) TUH. TH. TR

= fow o foeredt # @ w1 3o w1 =99 Hifv -

(1) Fad (A) 3% (B)
(2) Fad (B), (C) 3 (D)
(3) FaA (A) #W (C)
(4) FaE (4), (O) #irK (D)

1[Option ID=10049]
2[Option ID=10050]
3[Option ID=10051]
4[Option ID=10052]

Sl. No.14
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Match List I with List IT

List T
Types of Research
(A) Cohort analysis

(B) Cultivation analysis

(C) Factor analysis

(D) Canonical analysis

List IT
Research Characteristic

(I) Studyv of a specific population as 1t
undergoes change over time.

(I) Simultaneous analysis of two or more
data tables.

(III) Analysis of perceptions of social world.

(IV) A multivariate statistical test used for
data reduction.

Choose the correct answer from the options given below :

1) (A)D). B)-ID), (O)-(ID). (D)-(IV)




(2)  (A)-(ID). (B)-IID). (C)-AV). (D)-(D)
(3) (A)-AV). (B)-). (O)-(ID. (D)-(I1T)
(4)  (A)-(D. (B)-(II), (C)-(IV). (D)-AD

gefl-1 o a1y g=i-11 &1 e i
i1 TAi-11

MY F TFR MICECIRERLTIY

(A) =T favem (I) 99 % A9 oot g8, U O S #
HETTH

(B) wedlanH (TEpfa) fergary (ID) = = A Aiher AROE S @y-ay
fergetwon

(C) == fagemo (III) | STd o Jeaequr 1 fagesm

(D) STl fagerson (IV) 3ATHSl & THFO g TgaR HITCTHA Theor

Hra fau o fomeat @ @ wEt 3w 1 9 Hife

1) (A)-(D). (B)-ID). (C)-(III). (D)-(IV)

(2) (A)-ID. (B)-(III). (C)-IV). (D)-(D
(3) A-IV). B)-D. (C)-11). (D)D)
(4)  (A)D). (B)-(IID). (C)-AV). (D)-D)

1[Option ID=10053]
2[Option ID=10054]
3[Option ID=10055]
4[Option ID=10056]

Sl. No.15
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The measures of inter-coder reliability are employed in research related to
(1) Discourse analysis
(2) Narrative analysis
(3) Path analysis

(4) Content analysis
se-wiet favawiaa & ameEel # v e | gefaa my | @ e
(1) famyl fagemm
(2) i fagerso
(3) w4 Tzt
(4)  fayg-awq faverm

1[Option ID=10057]
2[Option ID=10058]
3[Option ID=10059]
4[Option ID=10060]

Sl. No.16
QBID:1501016

Transforming ideas. thoughts and messages into verbal and non-verbal signs and symbols is
known as

(1) Channelisation




(2) Controlled communication
(3) Encoding
(4) Decoding
s, famnd sfi dgen = difiaes va - gl § s fF am 3 s e 7
(1) grfie (SHeEsF)
(2)  faf e

(3) FeohEd

4) fage

1[Option ID=10061]
2[Option ID=10062]
3[Option ID=10063]
4[Option ID=10064]
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Which of the following are the effects of oral communication?
(A) Fragmented information

(B) Personal connect

(C) Feed back

(D)  Objectivity

(E) Absence of interpretation
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (A). (B)and (C) only
(3) (B)and (C) only
(4) (C). (D) and (E) only
fferiiaa o 9 =i 4 difias gem & gaE 27
(&)  ESeHE g
(B)  TafFa=s day
(C)  ufdgfe (Fizss)
D) g

(E) =Irs s H9E

i faw T fesre | w39 1 = i
(1) e (A) 30 (B)

(2) FaEe (A), (B) 31 (C)

(3) e (B) 37 (C)
(4) Fae (C). (D) 3 (E)

1[Option ID=10065]
2[Option ID=10066]
3[Option ID=10067]
4[Option ID=10068]
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Given below are two statements :

Statement I: The psychological obstacle in communication can be seen when the receiver
fails to refer language to reality and experience.

Statement IT: The stereotypes held by one also contribute to the faillure of language to
reflect social reality.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement IT is true

w9 (I): TN | HHAEHIS o197 99 @ 1 Fehdl 8, 99 TeUehdl a91d Ud S1WE I WIS 1 Ted o
T fawa war 2 |

oA (I) : Forelt =afaa & ®g wou amfss aurdar #t wfafafea @ & vy & fawea @ o areE =
2l

39U e o 3k 4, 4= fTu T foemedt § 9@ w8 3w 9 i -
(1) Fo I3 M EHT 9 2 |

(2) e 130 I SAT S 2 |

(3) FA [8e 2, offd 9 [T 515 2 |

(4) FUH [FHAR, oAl F99 [[TA 2 |

1[Option ID=10069]
2[Option ID=10070]
3[Option ID=10071]
4[Option ID=10072]
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Identify the correct sequence of the elements of communication set by Aristotle:
(A) Speech

(B) Speaker

(C) Audience

(D) Occasion

(E) Effect

Choose the correct answer from the options given below :
(1) (A). D). (B). (C). (E)

(2) (D). (B). (A). (E), (C)
(3) (C). (D). (A). (E). (B)
(4) (B). (A). (D). (C). (E)

e 7 feifod | o ae % w2 F0  veeE i

A) 9
B)  FH
(C) i
D) W
(E) 99AE

= e o faeredi § 9wl 3 o = e

(1) (A). (D). (B). (C). (E)

2
(D). (B). (A). (E). (C)




(3) (C). (D). (A), (E). (B)

4) (B).A). D). (©).(E)

1[Option ID=10073]
2[Option ID=10074]
3[Option ID=10075]
4[Option ID=10076]

Sl. No.20

QBID:1501020

Match List I with List I :

(A
B)
(©
D)

List I

Types of Communication Effects

Instrumental
Prestige
Reinforcement

Aesthetic

@D
ey
(1D
aw

List IT
Source of Service
Author’s observation
A range of special requests
Sentimental fiction

Factual reports

Choose the correct answer from the options given below:

(1)

(2) (A)-(IID). (B)-(IV). (C)-(II). (D)-(D
(3) (A)-(IV), (B)-(III), (C)-(ID). (D)-(T)

(4)  (A)-(D), B)-IV). (C)-(1I). (D)-(III)

(A)-(II), (B)-(I1I). (C)-(IV). (D)D)

Al 13 g1 g=h 1T = firer i |

(&)

qH1 1
E o YTE o TN

@D

HA 11
a1 =1 Hid

S T ST

B) ulam
(C) A

(D) e

e 1o forreat 1 4 ol 39 o == fifa

(1) (A)-(D), (B)-(IID), (C)-IV). (D)-(D)
(2) (A)-ID. (B)-AV). (C)-aD. (D)-d)
(3) (A)-IV). (B)-(IID), (C)-D. (D)-(D)

4 (A)-(D). B)-(IV). (C)-(1I). (D)-(I1I)

1[Option ID=10077]
2[Option ID=10078]
3[Option ID=10079]
4[Option ID=10080]

an o sigivei & vk =
(1) wral e -HrfEe

(IV) deareds frard

Sl. No.21
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Find the wrong term in the series given below:

16. 22, 30. 45. 52. 66. .......

1) 22

2
()30




(3) 66

(4) 45

1 1 76 gaen T TTetd g w1 gal eEe ?
16, 22, 30, 45, 52, 66, .......

(1) 22

(2) 30

(3) 66

(4) 45

1[Option ID=10081]
2[Option ID=10082]
3[Option ID=10083]
4[Option ID=10084]

Sl. No.22
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If the word EARTH be written as QPMZS in coded form, how can the word HEART be
written in the same code?

(1) SPMZQ

(2) SQMPZ

(3) SPMQZ

(4) SQPMZ

af2 3% - EARTH 1 %2 94 QPMZS foren i 2 dl HEART =1 341 &2 4 fohm v foran s wahan
27

(1) SPMZQ

(2) SQMPZ

(3) SPMQZ

(4 SQPMZ

1[Option ID=10085]
2[Option ID=10086]
3[Option ID=10087]
4[Option ID=10088]

Sl. No.23
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(0.35)* —(0.03)

Compute the value of
0.19

upto 3 decimal places:

(1) 0.064
(2) 0.64
(3) 0.006

(4) 0.694

(0.35)* — (0.03)°

i WA 1 SIA 6 o= L e T e |

(1) 0.064

(2) 0.64




(3) 0.006
(a) 0.694

1[Option ID=10089]
2[Option ID=10090]
3[Option ID=10091]
4[Option ID=10092]

Sl. No.24
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10 chairs and 5 tables were purchased for Rs. 17.500. If the average cost of a chair is

Rs.1000, What 1s the average cost of a table?
(1) Rs. 1,400

(2) Rs. 1.200
(3) Rs. 1,100

(4) Rs. 1.500

10 HfEAT TR 5 7+ 1 F 17,500 7 @la 70| a2 vk FH i 3dEa Fwa 1000 & 2; 99 T 4 H
Simd oftad F=m 87

(1) % 1.400
(2) =% 1,200
(3) % 1,100
(4) %.1.500

1[Option ID=10093]
2[Option ID=10094]
3[Option ID=10095]
4[Option ID=10096]
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An Aeroplane started 30 minutes later than the scheduled time from a place 1500 km
away from its destination. To reach the destination at the scheduled time the pilot needed
to increase the speed by 250 km/hr. What was the speed of the Aeroplane during journey?
(in km/hr).
(1) 750
(2) 1000
(3) 800

(4) 900

U BT WS 3 1 Tasd @ 1500 .. Fi gt w et v @ e Ruifa w8 30 e 1 20 @
I wRY o | e e W Ruffa oog ¥ ugen 2q urmere @6t wfa § 250 et ufa w2 o @ afy
w1 mavEs gl | AT % S gaTs e i fa foRat oft (Feet. fmer H) 7

(1) 750
(2) 1000
(3) 800

(4)




900

1[Option ID=10097]
2[Option ID=10098]
3[Option ID=10099]
4[Option ID=10100]
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In classical square of opposition if ‘No S is P’ is given as false then which of the following

could be immediately inferred from it?

(A) ‘Some S is not P’ is true

(B) ‘All S 1s P’ 1s undetermined

(C) ‘Some S is not P’ is undetermined
(D) ‘Some Sis P’ is true

(E) ‘Some S 18 not P’ 1s false

Choose the correct answer from the options given below :

(1) (B). (D) and (E) only
(2) (A). (B) and (D) only
(3) (A). (D) and (E) only

(4) (B). (C) and (D) only
fogfa & aenfadm ol & afy #E S, PAd @, o8a & &9 # fem & a9 fafafaa 4 9 38 sH-w @9

R T STH I ST HehT 2 |

A FBS, P, TR

B) ‘wfi S, P?, wFuii@ 7|
(©) F3 S, Pa@ e, wfigif@ 2
D) ‘FBS PR,ud®

(E) ‘%8 S,Padl e, e 2

= fou o foshedt § & W I 1 =T HifS
(1) & (B), (D) R (E)
(2)  Fad (A), (B) 3 (D)
(3) F4d (A), (D) 31 (B)
(4) % (B). (C) 3R (D)

1[Option ID=10101]




2[Option ID=10102]
3[Option ID=10103]
4[Option ID=10104]
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Which Fallacy iz committed in the following argument?
“Smooth Sailing is all that's there to LIFE with ABC Insurance Policy.”

(1) The Appeal to Emotion
(2) The Appeal to Pity
(3) The Appeal to Force
4) Irrelevant Conclusion
Freferfiaa gfaa § wia—a dm s 27
o oft i sl iferd % we sfag—amm g g 2
(1)  9EATF o smre
(2) =A% foru ==
(3) e feru sme

(4) FrEfiTE e

1[Option ID=10105]
2[Option ID=10106]
3[Option ID=10107]
4[Option ID=10108]
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Given below are two statements :

Statement I: To draw an analogy between two or more entities is to indicate one or more
respects in which they are similar.

Statement II : Everry analogical inference proceeds from the similarity of two or more
things in one or more respects to the similarity of those things in some
further respect.

In the Light of the above statements, choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement II 1s correct

wud (I): @ a1 Afos Tearsti & Wed &9l ol ST U A1 iUk Yggedl § ITeh uHar i W
3 s 2 |

FIH (IT) : T G SHAH Uh a1 39E A4 Tgqgai § 4l a1 389 Afoeh J&qaii &l THEa § 34
gt o foret sifafera veey it TamaT i TR SR FaT 2|

SHIF HeH % A H, T o o faswedi #§ | waw 3ugw I A ==A Hifw

1)

Fo [N IIEHT TS E |




(2) FH TR I EHT T 2 |

(3) FeH [HH 2, oiford sheq 1A 2 |
(4) FE LA 2, Al e IHA 2

1[Option ID=10109]
2[Option ID=10110]
3[Option ID=10111]
4[Option ID=10112]
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Given below are two statements :

Statement I: For the Classical Indian thinkers, inference (anum&na) means only

syllogistic inference.
Statement IT : Unlike Aristotelian Syllogism. anumana invelves four steps instead of three.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement II is true

= 21 sy feg e 2

Fod (I) . dFerniaeht yrdi foas % e smmm =1 a1 Faa =meg aqEE 9 21
o (II) :  STEqETdl =arE & faudfa e o fF % a9 =1 = e 2  # |

3T e & TS 4, A fou mu famedi 4 @ g8t s o wEA fifu -
(1) FHAISRIIGHI A 2 |

(2) 2 130 I EH1 583 2 |

(3) A 18e 2, cifeh e 11 3797 2 |

(4) & T HHA 2, offhd 94 [TH& 2 |

1[Option ID=10113]
2[Option ID=10114]
3[Option ID=10115]
4[Option ID=10116]
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Which of the following means of knowledge involves positing of something for making any

unit of cognition self-complete?
(1) Comparison (Upamana)
(2) Postulation (Arthapatti)
(3) Non-Cognition (Anupalabdhi)

(4) Verbal Testimony (E.")abda)

T ¥ Frfoan med # @ fr # S B A N S A wia ARl = 3 55 W G i

gt g7

1)




(2)

(3)

(4)

1[Opt
2[Opt
3[Opt
4[O0pt

SYHHE

g
Fuefss
lag

ion ID=10117]
ion ID=10118]
ion ID=10119]
ion ID=10120]
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With respect to data communication, which of the following statements is true about fibre
optic cable?

1)

(2)

(3)

(4)

Fibre optic cable carries data in pulses of light and is prone to interference.
Fibre optic cable carries data as electronic signals and 1s not prone to interference.
Fibre optic cable carries data as electronic signals and 1s prone to interference.

Fibre optic cable carries data in pulses of light and 1s not prone to interference.

g2 (Afhet) HaR & G °, Bisa 3iiftdsh sheret & an § f=fefaa § @ s -a1 wuw a8 27

(1)

(2)

(3)

(4)

HIESH HiTEsh Sheled TehTel T4 § ATehs of W1l ¢ i Ig =4Temd 34@ 2 |

HISH SAMMEH held SAFgI e Hohashl o &9 § Alhg o 11 2 3R T2 AT 3G 2 |
ISR ST helcl SAFEIh Hohashi o &9 H kg o 1Al & 3R T8 =T8T Q@ 2 |
HIFa (e halel Yokl ¥9g H e o SI1a @ 31K Ig =Aand 39@ 74 ¢ |

1[Option ID=10121]
2[Option ID=10122]
3[Option ID=10123]
4[Option ID=10124]
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Arrange the following computer memory types|from fastest to slowest speed:

(&)
(B)
(©
D)
(E)

Hard Disk

Main Memory (RAM)
CD-ROM

CPU Registers

Cache Memory

Choose the correct answer from the options given below :

(1)

(2)

(3)

(4)

(D). (E). (A). (B). ()

(A). (©). B). D). (E)
(E). (D). (B). (4). (C)
(D). (E). (B). (A). (C)




wg Wi & fFafafaa yerl & disw @ wenfa = #n 4 fofew -

(A)
(B)
(©)
D)
(E)

e foen

g1 Tfd (3 T W)
ot <t - 3| o
ot bt 7 Foret

13 Tyfa (e o)

= fou mu faeet @ 9 T 3T =1 = Ao

1) (D). (E). (&), (B). (C)

(2) (A). (C). (B). D). (E)

(3) (E). D). (B). (A4). (C)

(4) (D). (E). (B). (A). (O)

1[Option ID=10125]
2[Option ID=10126]
3[Option ID=10127]
4[Option ID=10128]
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Which of the following statements about malware are true?

(A)

(B)

(©)

A Trojan Horse 1s malware disguised as legitimate software.

A Virus inserts itself into another program. It runs and spreads itself when the

program lis opened.

A worm 1s similar to a virus except that i1t does not need a program in order to run. It

spreads by itself.

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (A)and (C) only

(3) (B) and (C) only

(4) (A). (B) and (C)




Aeaa & Ted 7 frafafaa s 7 8 9 o1 %97 96 27
(A) 219 gd T Aread g S 94 GidedT % SeHaY § 2l ¢ |

(B) as@ Tt g vom § W= g@ I 2| W 9um @ien 9 R a8 3@ Jed o em
T R |

(C) M U IE % THH BT 2 | 390 oia ik 9 g @ Fh sEel Sen & foe gmm Y stEvaeRan
Tl 2l | T2 T HeAar )

= feu mu eyl d @ 9F I =1 99q Fifyv -
(1) F== (A) 31 (B)

(2) === (A) #R (0)

(3) Fa9 (B) ¥ (C)

(4)  Fae (A), (B) 3 (C)

1[Option ID=10129]
2[Option ID=10130]
3[Option ID=10131]
4[Option ID=10132]
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Match List I with List IT

ListI List IT
(File) (File Format)
(&) Video (D xlsx
(B) Podcast I .jpe
(C) Photograph (ITI) .mp4
(D) Spreadsheet (IV) .mp3

Choose the correct answer from the options given below :
1) (A)-IID). (B)-(D). (C)-(IV). (D)-(D
(2)  (A)-ID). (B)-(IV). (C)-(1II). (D)-(I)
(3) A)-IID), B)-(IV). (C)-aD). D)-O

4 (A)-@). (B)-IV). (O)-(ID). (D)-(III)




-1 % =9 g=-11 1 f5em it

T=i-1 FHI-11
(&) iz () T
(B) U= (I) .S
(C) weZmTe (IIT) w4
(D) iz (IV) i3
9= fou o famed § | HEL 39 H1 = R

@ (A)-(I1I), B)-(1D), (C)-AV), (D)-0)
@ (A)-(ID), (B)-IV), (C)-(1I), (D)-()
@) (A)-(IID), (B)-(IV), (C)-(1D), (D)-(D)
@ (A)-(I), (B)-AV), (C)-I), (D)-(I1L)

1[Option ID=10133]
2[Option ID=10134]
3[Option ID=10135]
4[Option ID=10136]
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In the following spreadsheet, which of the formulae below would be best for cell C2? Note
that the formula must be able to be copied down from C2 to both C3 and C4.

A B C
Lunch Cost Dinner Cost Total Cost
' (Rs.) (Rs.) (Rs.)
2 15 27 42
3 23 35 58
1 10 35 45

(1) =A32+3B2
(2) =3A32+ B2
3) — BA32 + $B32

(4) =3A2+3B2




Frafafaa foen sfie (Wesfie) 4, frafafaa & F5-o g7 (wrjen) 3@ @t 2 % fau gatem @ ? |9 #®
for wider, @ 28 @t 3 3t i 4 S | Hidt B TH |

T off =t
TR WIS
Tf HsH A Fd AT

1 AT
&) &)

)
2 15 27 42
3 23 35 58
4 10 35 45

1) =T$2 + $efi2
2 = $U$2 + A2
@) = $T$2 + FAI$2
$u2 + $&ft2

1[Option ID=10137]
2[Option ID=10138]
3[Option ID=10139]
4[Option ID=10140]

(4)
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Soil Pollution due to detergents affects the root growth of the plants and
depresses the growth of soil micro-organisms.

Reason (R) : Presence of detergents in soil makes the soil more acidic.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4) (A) 1s not correct but (R) is correct




= 2 FeA feu Mo 2 : uw sifieRem (AssertionA)%@ﬁ%’@ﬁ%?ﬁwmm (Reason R) % &9
g

Al (A) s (fsetiz) & R T ge1 Yguor & diui % g {9 W ouvE usa @ 3
Ta1 1 q& el & fawm w oft wna A 2|

FW (R) g1 § feersie 1 sufeuls gar 1 siftes sreefta o 2a1 2|

39 %99 % Aelis H, 4= 73U U fowmeui § & T9@ 30gad W &1 =994 FHife
@ (A) 3 R) A T T R R), (A) H 7 =T 2

2 (A) R (R) 3H1 & 2, A (R), (A) I w21 =ame 461 2 |
@ (A) T 2, AfF (R) & 7 2 |
@ (A) TE 7 2, afF (R) Tt 21

1[Option ID=10141]
2[Option ID=10142]
3[Option ID=10143]
4[Option ID=10144]
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Examples of Persistant Organic Pollutants (POPs) are:
(A) Dioxins

(B) PAN

(C) VOC

(D) FURANS

(E) PCB

Choose the correct answer from the options given below :
(1) (A). (D). (E) only
(2) (&A). (B), (D) only

(3) (B). (C). (E) only
(4) (C). (D), (E) only




Faq 39 9guhi (POPs) % 3= &
(A) smEfFEE

(B) W (PAN)

(C) &t s (VOO)

D)
(E) @

= fou o foeredt § @ |E 3 F w=E Ff
@ a4 (4), (D), (B)
@ Fad (A), (B). D)
@ %= (B), (C), (E)
@ *ad (C), (D), (B)

1[Option ID=10145]
2[Option ID=10146]
3[Option ID=10147]
4[Option ID=10148]
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In the first commitment period of Kyoto Protocol, how many green house gases were covered
for reducing their emissions?

(1) 4
(2) 5
(3) 6

@ 7

FIEl Tieihicd o 99N Uldegal HAaty | foad 019 239 A9 % IcHeH i FH HH & U AEd R

T U

1 4
2 5
3 6
@ T

1[Option ID=10149]
2[Option ID=10150]
3[Option ID=10151]
4[Option ID=10152]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reaszon (R) :

Assertion (A):  Green hydrogen production will be critical for world community to achieve
carbon neutrality by the year 2050.

Reason (R) : The energy content of hydrogen gas 1s much higher than that of coal.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A)is falze but (R) is true

fi=r 2t e fau U F : us sifiwYR (Assertion A) % w9 # fafga @ @t gaw 39 #W0 (Reason R) &
W'E[

AfYeped (A) fava @gg@ & fau 2050 % FeA Foga wH FH 2g NG FEgeE H ScuTed
foTTersk &R I |

0 (R) : FISIoH A il FHelt A RIFA il STa aga ifis it 2|

3T HYF & ATk 8§, Fi fou e fowed § @ wd 3w F w5 Fif

@ (A) IR (R) g &3 & 3R (R), (A) it w8t =amen 2 |

@ (A) 3R (R) 3F @ &, AR (R), (A) Ft Tt =awen 7€ 2|
@ (A) 7F 2, Ak (R) 319 T8l 2 |

@ (A) 3T 2, AfdT (R) 97 21

1[Option ID=10153]
2[Option ID=10154]
3[Option ID=10155]
4[Option ID=10156]
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Since the start of industrial revolution. the acidity of ocean’s surface water has

(1) inecreased by ~10%
(2) remained constant

(3) decreased by ~25%

(4) increased by ~30%

aftenfires sifd 6t JETT T TYg F Hag! ST hH STEAd-
1 ~10% = T B

@ TYEd 3

(3) ~25% FHF @ TR

(4)




~30% g T B

1[Option ID=10157]
2[Option ID=10158]
3[Option ID=10159]
4[Option ID=10160]
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A Government University with Institute of Eminence status can have foreign faculty upto a

maximum of

(1) 20% of total faculty strength
(2) 25% of total faculty strength
(3) 30% of total faculty strength

(4) 35% of total faculty strength

ooy giaisd geu™ =i feufa g sraehia favafaene § siftrran fora faesf foemss @ < a=d 27

) Fa ekl i g@n w7 20%
@ Fa et i G #:125%
3) T frereht it @ F 30%
@) T fIerhi 1 F=& H 35%

1[Option ID=10161]
2[Option ID=10162]
3[Option ID=10163]
4[Option ID=10164]
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Credits earned by a student and stored in Academic Bank of Credit, after the date of earning

such credits, will have validity upto a maximum of

(1) 7T years
(2) 10 years
(3) 12 years

(4) 15 years
et B g ifia ot srmefies sfee 9= o 1 sfge, g =@ 6 fafyr & gy, siftean =9 7% &
fordr du g e

m 79 % fg

@ 1039 & fou

@) 1239 & fou

@ 153 & fore

1[Option ID=10165]
2[Option ID=10166]
3[Option ID=10167]
4[Option ID=10168]
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Identify the statutory bodies of a University:
(A) Board of studies

(B)  Academic Counecil
(C) Executive Council
(D)  Finance Committee

(E) University Court

Choose the correct answer from the options given below :
(1) (A). (B). (C). (D) only
(2) (A). (C) only

(3) (&). (C). (E) only
(4) (B). (O), (D). (E) only

Rrvafirmem % Tifafes fem # fafea fifw

(A) = gsd
(B) e gl
(C) el fiwg
(D) o= =

(B) fovafomem w2

frar fou e faeredt 8 @ wet 3T 1 == Fifs
@ FEd (A), (B), (0), (D)
@ Had (A), (C)
@ e (A), (C), (E)
@ %ad (B), (C), (D), (E)

1[Option ID=10169]
2[Option ID=10170]
3[Option ID=10171]
4[Option ID=10172]
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Environmental education must be integral to all academic programmes as students need to

be mainly sensitized about
(1) its interdisciplinary and multidisciplinary nature

(2) 1ts emergence as a specialized field

3) relationship between culture and environment




) environmental degradation and its consequences for life on earth

el e stavas w9 9 o e s &1 wfad s gen =i e sel o e % e |

qEId: ATee ST 1 T

(1) FEH Aafaw 3T aglawe wHfa

@ 3EF e &9 % w=v § anfauls

(3) HEH 3R GIR & T Gay

@) gl i ot gedt W Sftaq & feore gaen wfom

1[Option ID=10173]
2[Option ID=10174]
3[Option ID=10175]
4[Option ID=10176]
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‘How could a lamp, which does not keep on burning, light another lamp? This statement is
from the book titled ‘Siksha (learning). Who among the following is the author of this book?
(1) Rabindranath Tagore

(2) Sarvapalli Radhakrishnan

(3) Jyoti Phule

(4) Savitribai Phule
‘F1E duh I WE el I 1@ 8, TRl A= €U Fl HE Joil Gehal 8¢ g8 yd e (dieen) sfidew
g&as 8 2 | Frefafiaa 3 8 5 qeas & dws 3 27

(1) TefiegATy TR
(2) G TUFHFVHE
3) SIfea B

ORI R IR

1[Option ID=10177]
2[Option ID=10178]
3[Option ID=10179]
4[Option ID=10180]
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Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideoclogical components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonie ideologlieal structures maintain control in part through the never-ending process
of integration and appropriation of marginalised 1declogles.

g Ty it 9 SR 9 9= 46 | 50 9% F I AU

AT & UH AEYIF FE § UF DI TG % Afeded & gfd mmed g4 & fow o+ stvas
FET A B, S a9t § 39 T8 FE w2 | Hia wg W 39 feememst # iy @ 33 afd
fagre 72 #wd, < fosrifierr-umm Tt #1 srenfus Tmds et €, F=ifE 3 foRf T w enfuuer s 3
T HEHd BM 4 T B © | 39 FU H dehrel I @Sl 2rdl 2 | Hi3 oft sufad i 39 wehn i sweeen % ufa
HEHd BT 87 Seih SUtashRl SERYTIe g €9 & wfFdwnel agg it seoren v fat @i ufafEtia
w8, 39 foemumet & wgw a1 enfuegardt 59 @A & fore s uw sifafem aum 3 faivan oft
e 2 | Hia aggl w1 48 a7 umoned w e w0 8 oft R | o7 a0 & Fa S q g
w9 H YfFqeel! g 3 AfTas gEh H aEiis fbaT & e & ¥ 8 SiEr w1 % o &
£ 3R 3 9gl & TR % U §H [angmet wi SieR FH @ § #ih 3 3% hEl alsh d g
AT & | 38 T TEA GeArd i Ueh SfHAT o w9 § Heiia fea s @ wits ag fafte v @ o 2
A1 I W AN T A | IR & 9f Td: Thd Hewld H Uh 3G & HEH H 48 @l ¥ quen o
Tkt 2 | Rt 3w < 3== e et % offet s S uew faenfei & way fedt d 7 @ w21
T el gRON Gt @ 56 hicts & fornfeia 1 et =2 it fren 1 yam e =ifee ) 5| gwen
d yuifd 89 & e 9 3 EieR W dd @ R T8 femum s+ wdh 21 e, 59 53 yer i weafa
fawar & St 2t enfraes it sraumon Tow w2 o Ry gl femam weha s
ufshan & H1ead | 39 fawerdn ot Uk o fore forssfara et 8 1 30 @i 6t feafa 9 o dwie 2 fop adeasil
Aok HEATT Rt AUl aRom 1 SAeHETa BT 3w SfaTeETel A § i wf 3 qEadi
O I G TG R | giomEEEy sftmerErd sonfaat wt off oo T 2 | 3 At wEl & s
R -7 it ufshan & H1eTm A Fad 9 agad! @ | AT SeTieh St oFifve 9 | i
foaRemat & TR AR faFRem 6 Ft ot T T 39 At sfen & aem 8RR s wEd

Despite hegemony, why marginalised people do not protest?
(1) DBecause they are too weak.

(2) They are not bothered being dominated.
(3) Priviledged groups forcefully suppress them.

(4) Because of the promise that the dominant ideology is in their best interest.
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Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups, for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way, members of socially
powerful groups act to have their world view accepted as the universal way of thinking. and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This 1s referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1s through an example. A number of ideological components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it, and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideologies evolve to contain this failure
through a process of flexible appropriation. In such a situation. it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result, hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonic ideological structures maintain control in part through the never-ending process
of integration and appropriation of marginalised ideclogies.
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What is the acceptance of domination called?

(1)




Hegemony
(2)  Marginalisation
(3) Spontaneous consent

(4) Reflective desire
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Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideoclogical components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonie ideologlieal structures maintain control in part through the never-ending process
of integration and appropriation of marginalised 1declogles.
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The dominant ideology survives because of its

(1) Social Power
(2) Flexible appropriation

(3) Beneficial features

(4) Ideological components
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Read the following passage and answer the questions :

An essential function of hegemony involves convineing people to support the existence of a
social system that does not support them in return. Marginalised groups do not often protest
or revolt against 1ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic. they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This 1s referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideological components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief. they accept it. and the ideoclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result, hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonic ideological structures maintain control in part through the never-ending process
of integration and appropriation of marginalised ideologies.
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The dominant cultural institutions have the power to

(A)
B)
(©)
D)

Absorb challenges
Maintain relations with social groups
Destroy opposition

Re-establish the prelous norms

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(2) (B). and (C) only

(3) (C)and (D) only

(4) (A) and (D) only
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Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideoclogical components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonie ideologlieal structures maintain control in part through the never-ending process
of integration and appropriation of marginalised 1declogles.
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The passage explains

(1) The forced absorption of the marginalized into the mainstream
(2) The establishment of the ideology of the marginalised

(3) The defects of spontaneous consent

(4 The survival of dominant ideology against the challenges
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